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QUESTION 1

Installing a policy usually has no impact on currently existing connections. Which statement is TRUE?

A. Users being authenticated by Client Authentication have to re-authenticate.

B. Site-to-Site VPNs need to re-authenticate, so Phase 1 is passed again after installing the Security Policy.
C. All FTP downloads are reset; users have to start their downloads again.

D. All connections are reset, so a policy install is recommended during announced downtime only.

Correct Answer: A

QUESTION 2

Static NAT connections, by default, translate on which firewall kernel inspection point?
A. Post-inbound

B. Eitherbound

C. Inbound

D. Outbound

Correct Answer: C

QUESTION 3

Which of the following are authentication methods that Security Gateway R75 uses to validate connection attempts?
Select the response below that includes the MOST complete list of valid authentication methods.

A. Proxied, User, Dynamic, Session
B. Connection, User, Client

C. User, Client, Session

D. Connection, Proxied, Session

Correct Answer: C

QUESTION 4
What happens in relation to the CRL cache after a cpstop and cpstart have been initiated?

A. The Gateway retrieves a new CRL on startup, and discards the old CRL as invalid.
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B. The Gateway continues to use the old CRL, as long as it is valid.
C. The Gateway continuous to use the old CRL even if it is not valid, until a new CRL is cashed.
D. The Gateway issues a crl_zap on startup, which empties the cache and forces certificate retrieval.

Correct Answer: B

QUESTION 5

Which of the following explanations best describes the command fw logswitch [-h target] [+ | -] [oldlog]?
A. Display a remote machine\\'s log-file list.

B. Control Kernel

C. Display protocol Hosts

D. Create a new Log file. The old log has moved

Correct Answer: D
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